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Direction: 
The  following  questions,  you  have  several  passages 
where some of the words have been left out. Read the 
passages  carefully  and  choose  the  correct  answer  to 
each blanks with its particular number, out of the five 
alternatives. 
 
PASSAGE 
Although John Wisdom's writings in philosophy show 
clearly the influence of Wittgenstein, they nevertheless 
also display a ____(1)____ originality. Despite the 
____(2)____ and difficulty of his style, a careful reading 
of Wisdom is seldom ____(3)____. He is a unique kind 
of  genius  in  philosophy.  This  essay  is  an  excellent 
example of Wisdom's repeated attempts to 
____(4)____ the ultimate bases of philosophical 
perplexity. A great deal of the time Wisdom is 
____(5)____ interested in finding out why 
metaphysicians feel ____(6)____ to utter such strange 
sentences  ____(e.g.  "Time  is  unreal",  There  are  no 
material things", etc)____. According to Wisdom, such 
sentences are both false ____(and perhaps 
meaningless)____  and  yet  ____(7)____.  Even  more 
than Wittgenstein, Wisdom has stressed the 
"therapeutic"  conception  of  philosophy,  a  view  that 
comes out clearly in this essay where he emphasizes 
the analogy between philosophical and neurotic 
distress ____(8)____ them with other kinds of 
problems.  The  reader  who  is  interested  in  gaining  a 
fuller ____(9)____ with Wisdom's thought is referred 
to his famous article "Gods in Philosophy and Psycho-
analysis". Other Minds is Wisdom's most ____(10)____ 
discussion of a single topic and in many ways his finest 
work. 
 
1) Choose the correct word which fits the blank (1)? 
a) concise  b) virtual 
c) marked  d) limited 
e) relative 
 
2) Choose the correct word which fits the blank (2)? 
a) individuality  b) novelty 

c) originality  d) complexity 
e) creativity 
 
3) Choose the correct word which fits the blank (3)? 
a) unprofitable   b) useful 
c) advantageous d) unreliable 
e) durable 
 
4) Choose the correct word which fits the blank (4)? 
a) jettison  b) delimit 
c) augment  d) fortify 
e) explore 
 
5) Choose the correct word which fits the blank (5)? 
a) admirably  b) primarily 
c) inadvertently  d) reluctantly 
e) happily 
 
6) Choose the correct word which fits the blank (6)? 
a) depressed  b) confined 
c) alluded  d) compelled 
e) adapted 
 
7) Choose the correct word which fits the blank (7)? 
a) illuminating  b) damaging 
c) confusing  d) critical 
e) unreliable 
 
8) Choose the correct word which fits the blank (8)? 
a) compelling  b) associating 
c) contrasting  d) describing 
e) advocating 
 
9) Choose the correct word which fits the blank (9)? 
a) comparison  b) analysis 
c) agreement  d) elaboration 
e) acquaintance 
 
10) Choose the correct word which fits the blank (10)? 
a) projected  b) sustained 
c) prolonged  d) prolific 
e) attributed 
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Direction: 
The  following  questions,  you  have  several  passages 
where some of the words have been left out. Read the 
passages  carefully  and  choose  the  correct  answer  to 
each blanks with its particular number, out of the five 
alternatives. 
 
PASSAGE 
The Government seems to be in right earnest to ensure 
more ____ (1) ____ in governance. The Prime 
Minister's announcement that his Government is ____ 
(2) ____ drafting legilsation to ____ (3) ____ the 
citizen's right to information is indeed welcome. 
Though the talk on the right to information is not new, 
we may ____ (4) ____ the bill to be brought early this 
time. The previous Government had set up a high-level 
committee to ____ (5) ____ a draft bill. But nothing has 
been heard about the matter since, ____ (6) ____ the 
committee did quite some work. The issue, however, 
has come to such a pass that a solution cannot be ____ 
(7)  ____  further.  Sunlight  is  the  best  disinfectant,  a 
foreign judge once said, while ____ (8) ____ the 
unwarranted secrecy in an administrative system. 
When  those  in  authority  know  that  people  have  the 
right to ask questions and the government is under the 
____ (9) ____ to provide them with answers, ____ (10) 
____ of authority, or of public finances, for personal or 
party ends is less likely to happen. 
 
11) Choose the correct word which fits the blank (1)? 
a) strictness  b) rudeness 
c) leniency  d) economy 
e) transparency 
 
12) Choose the correct word which fits the blank (2)? 
a) personally  b) busy 
c) not   d) reluctantly 
e) absolutely 
 
13) Choose the correct word which fits the blank (3)? 
a) presumption  b) absolve 

c) curb    d) question 
e) establish 
14) Choose the correct word which fits the blank (4)? 
a) expect  b) wait 
c) try   d) frustrate 
e) appeal 
 
15) Choose the correct word which fits the blank (5)? 
a) level    b) regard 
c) prepare  d) enact 
e) unearth 
 
16) Choose the correct word which fits the blank (6)? 
a) even   b) as 
c) because  d) until 
e) though 
 
17) Choose the correct word which fits the blank (7)? 
a) found  b) expected 
c) delayed  d) looked 
e) longed 
 
18) Choose the correct word which fits the blank (8)? 
a) nurturing  b) criticising 
c) demanding  d) appreciating 
e) upholding 
 
19) Choose the correct word which fits the blank (9)? 
a) pretentious  b) affect 
c) substance  d) obligation 
e) property 
 
20) Choose the correct word which fits the blank (10)? 
a) misuse  b) governance 
c) dishonour  d) curbing 
e) breach 
 
Direction: 
The  following  questions,  you  have  several  passages 
where some of the words have been left out. Read the 
passages  carefully  and  choose  the  correct  answer  to 
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each blanks with its particular number, out of the five 
alternatives. 
 
PASSAGE 
The social ____ (1) ____ of the Web lifestyle and work 
style are enormous. A lot of people ____ (2) ____ that 
computers and the Internet will depersonalize 
experience,  creating  a  world  that  is  less  warm.  But 
these  are  unfounded  as  we  know  that  some  people 
were  ____  (3)  ____  afraid  that  the  telephone  would 
reduce  face-to-face  contact  and  will  ____  (4)  ____ 
society  to  fall  apart.  But  the  ____  (5)  ____  actually 
came  true.  Just  as  phone  and  e-mail  have  increased 
contact between people living in different 
communities  and  between  people  on  the  go,  the  PC 
and the Internet give us ____ (6) ____ way to 
communicate. They  do  not  take  any  away.  In reality, 
the ability to use the Internet to redefine ____ (7) ____ 
in our communities is strengthening personal and 
cultural  ____ (8) ____. The Web  lifestyle is  about 
broadening ____ (9) ____, not narrowing them. 
Community building is going to be one of the biggest 
growth areas on the Web. It dramatically increases the 
number of communities you can bond to because of its 
ability to ____ (10) ____ groups of like-minded people 
independent of geography or time zones. 
 
21) Choose the correct answer from the given options 
to fill the blank with number (1)? 
a) groups  b) needs 
c) factor  d) teaching 
e) implications 
 
22) Choose the correct answer from the given options 
to fill the blank with number (2)? 
a) accept  b) dare 
c) fear   d) propose 
e) reject 
 
23) Choose the correct answer from the given options 
to fill the blank with number (3)? 
a) strongly  b) initially 

c) always  d) never 
e) possibly 
 
24) Choose the correct answer from the given options 
to fill the blank with number (4)? 
a) let   b) decay 
c) develop  d) cause 
e) destroy 
 
25) Choose the correct answer from the given options 
to fill the blank with number (5)? 
a) opposite  b) found 
c) finding  d) different 
e) negative 
 
26) Choose the correct answer from the given options 
to fill the blank with number (6)? 
a) cheaper  b) economical 
c) another  d) second 
e) many 
 
27) Choose the correct answer from the given options 
to fill the blank with number (7)? 
a) groups  b) ethics 
c) culture  d) bonds 
e) boundaries 
 
28) Choose the correct answer from the given options 
to fill the blank with number (8)? 
a) distances  b) connections 
c) differences  d) implications 
e) suggestions 
 
29) Choose the correct answer from the given options 
to fill the blank with number (9)? 
a) horizons  b) values 
c) nations  d) means 
e) status 
 
30) Choose the correct answer from the given options 
to fill the blank with number (10)? 
a) reduce  b) focus 
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c) prepare  d) connect 
e) develop 
 
PASSAGE 
Dhritrashtra, the elder brother of the Pandu, was blind 
by  birth.  When  he  grew  young,  he  was  married  to 
Gandhari. She loved him so ____ (1) ____ that she ____ 
(2) ____ up her own eyes with a cloth. A hundred sons 
were  bom  to  Dhritrashtra  and  Gandhari.  They  were 
called Kauravas. Duryodhana was the ____ (3) ____ son 
of  Dhritrashtra,  who  was  quite  obstinate  by  nature. 
When Kunti ____ (4) ____ to Hastinapur with her five 
sons, Duryodhana did not ____ (5) ____ it. He wanted 
that the Pandavas should live in the forest with their 
mother, Kunti. In fact he wanted to rule ____ (6) ____ 
Hastinapur without any interference in his affairs, 
although outwardly he made a ____ (7) ____ of 
happiness. His mother Gandhari consoled Kunti but her 
son Duryodhana did not like this at all. Pandavas were 
so  good  and  ____  (8)  ____  that  every  one  who  saw 
them  ____  (9)  ____  them.  The  people  of  Hastinapur 
began to give greater ____ (10) ____ to the Pandavas 
than to the Kauravas. 
 
31) Identify the exact answer for the blank (1)? 
a) closely  b) deeply 
c) keenly  d) excessively 
 
32) Identify the exact answer for the blank (2)? 
a) closed  b) folded 
c) bound  d) blinded 
 
33) Identify the exact answer for the blank (3)? 
a) eldest  b) greatest 
c) dearest  d) loveliest 
 
34) Identify the exact answer for the blank (4)? 
a) refreated  b) retracted 
c) receded  d) retumed 
 
35) Identify the exact answer for the blank (5)? 
a) concede  b) approve 

c) understand  d) like 
 
36) Identify the exact answer for the blank (6)? 
a) on     b) over c) upon  d) from 
37) Identify the exact answer for the blank (7)? 
a) show   b) pretention 
c) face   d) pretext 
 
38) Identify the exact answer for the blank (8)? 
a) feeble  b) attractive 
c) innocent  d) noble 
 
39) Identify the exact answer for the blank (9)? 
a) glorified  b) praised 
c) respected  d) applauded 
 
40) Identify the exact answer for the blank (10)? 
a) importance  b) praise 
c) consideration  d) admiration 
 
Direction: 
The  following  questions,  you  have  several  passages 
where some of the words have been left out. Read the 
passages  carefully  and  choose  the  correct  answer  to 
each blanks with its particular number, out of the five 
alternatives. 
 
PASSAGE 
The study of accountancy is ____ (1) ____ in demand 
in the view of ____ (2) ____ of greater complexity in 
our business organisation. Formerly a ____ (3) ____ of 
day-to-day  income  and  expenditure  was  more  than 
____  (4)  ____.  A  business  organisation  today  has  to 
____ (5) ____ a clear account of the ____ (6) ____ it 
uses, the amounts that are owing to it, the amount that 
it owes to others, the profit or loss it has made and the 
____ (7) ____ it employs. Without a scientific ____ (8) 
____ of accounting no businessman can be fully ____ 
(9) ____ of his real ____ (10) ____ position and run his 
organisation. 
 



  

Copyright © All Rights Reserved | https://www.spardha.guru 

spardhaguru2022 Spardhaguru Current affairs 

SpardhaGuru Spardha.guru 

Spardhaguru1 
www.spardha.guru 

English  

Page | 5 

41) Fill the blank (1) with the appropriate word from 
the below given words? 
a) progressing  b) getting 
c) powering  d) moving 
e) growing 
 
42) Fill the blank (2) with the appropriate word from 
the below given words? 
a) demand  b) growth 
c) status  d) position 
e) slackness 
 
43) Fill the blank (3) with the appropriate word from 
the below given words? 
a) mixture  b) map 
c) measure  d) record 
e) transaction 
 
44) Fill the blank (4) with the appropriate word from 
the below given words? 
a) sufficient  b) anticipated 
c) expected  d) required 
e) necessary 
 
45) Fill the blank (5) with the appropriate word from 
the below given words? 
a) gather  b) observe 
c) maintain  d) organise 
e) assimilate 
 
46) Fill the blank (6) with the appropriate word from 
the below given words? 
a) manpower  b) infrastructure 
c) money  d) resources 
e) capabilities 
 
47) Fill the blank (7) with the appropriate word from 
the below given words? 
a) capital  b) strength 
c) authority  d) strategies 
e) principles 
 

48) Fill the blank (8) with the appropriate word from 
the below given words? 
a) way   b) plan 
c) system  d) goal 
e) purpose 
 
49) Fill the blank (9) with the appropriate word from 
the below given words? 
a) ignorant  b) alert 
c) prepared  d) vigilant 
e) aware 
 
50) Fill the blank (10) with the appropriate word from 
the below given words? 
a) administrative b) financial 
c) capacity  d) business 
e) hierarchical 
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